
 
_pctile X1 if control==1, nq(10) 

scalar Median_ctrl = r(r5) 

 

 
su X1 if control==1 

scalar Stdev_ctrl = r(sd) 

 

 
regress Y1 X1 X2 

 

 
local CtrlMed: display %4.3f Median_ctrl 

estadd local CtrlMed "`CtrlMed'" 

 

 
scalar TreatEffect = _b[X1]/Stdev_ctrl 

local TreatEffect: display %4.3f TreatEffect 

estadd local TreatEffect "`TreatEffect'" 

 

 
test X1=X2 

local CoeffEq: display %4.2f `r(p)' 

estadd local CoeffEq "`CoeffEq'" 

 

 
estimates store StoreResults1 

local Statistics CtrlMed TreatmentEffect CoeffEq 

esttab StoreResults1, stats(`Statistics') 
 

 

 

ADDING STATISTICS TO A TABLE IN STATA  

 

 


